NES

—_

oJ

-

10

)
RI
<+

Rr
RO
o
Kl

ol
K
<
1o
Ho

ol

<
il

A
80

£
El

ok

Rr
O

ol
&l

b

¢

=3
=

H

SHOICHOt 4

NS

0lJ
K
4
TS
Ho
ol

Ho

-

HO

=
8

o]

-

10
Ll

R0
o)
nd
I7e)

)

oJ

—_

ol

ek A

ALY

ciloll Al ot

—
—

HEo a8z =2 of

0l &2R% 7]

ot
LS

<+

ok

K
K

by

:
o)

~
5
K

ol
ulo

oy

:
ol
Ok

ak

or

H

HAI Off A

)

=
[—

ol
0
20

-

18

¢}
RO

ol

o)

o)

_Jl_
110

KIo

o
ill

ok

54

, pH, DO, ORP), =&E=ZAHCOD, SS, T-N,

{0

ak
K
K

oy

o)

80

o0

T-P, chl-a), M&

ol

0K

—_

o0
0
80
o)
00

R
ol

ﬂ
R

&l

ulo
(e8]
or
00

KJ

b Site 20t JtE Q& E O

=
Al

g

LAt

0
3.
Ril
<+

ol
K
<+

-
[}

i

ol
Rr
ji[d
I+

0l

0

o

o
o
<
3

I[s}

O,

P

+=Z&0|

HEE X &

8o

b NEHC=Z 020X UNA

=
TT

|.

g
o

Q49

el

<

0

u
u

o
0

~

(OH =4t

M =73

StCt.

HOF

[}

ol
&
Rl
S

ol
4
iTs)
ms
ol

e}

00

ol
il

10

i0J

Site

un

1o

=
=

BMO| 4 = XI Xl

=
S

1 51
NEHoZ 3~47H

PSS
o

3% COD 62.1,

20 =9

X elst

BM-S-1=

SotRULt.



| &< COD 455, &
H = oi=&2 BM-S-1

T-N 40.7, Chl-a 40.6, SS 45.8 2 HMAE=s E¥L ME

=
=

ol

0D

ki

18.3 2 MHE0l LIEHRCH

[e=Bw] =11
=20 o

EN]

=
0]
il

KU
<+

il
0l0
ol

ol
E)
Ol

&l

m0

R0
o

o]
EE

Kk

0l
o)
oll

o]
&1

iy
0]
ol

Kk

0l
4]
I

o]
K]
]

iy

i0J

K

ol
K’

<

—-=
1o

ior

I

CH

PR

H
0

oI
K

==
1o

i

ok
0
IF

10y

A 2ot

=
=

M S+

==
1o

ak

10

P

20l Jl0o

3|9

= HEotH XIS A

=
=)

Ho

B4
Bl
160
KM
all
ol
20
_IL
ol
%0

o
3

ot . At

AdES HA

2 2

o BM £ 23

10

oll



